M & 0 & e & A
2018 & =0l & L BHSI A St 2l ot
D ot=Xel
: ot==2tel
P EhieldE Al tel &)
SA - ZE-B(EA) - NRAY - B S il &t o il 52
ot==X el ot 1,488,227 1,101,045 387,182
ot =2t 2| 1,441,717 1,055,055 386,662
T2 AL 1,441,717 1,055,055 386,662
EXeld HEAY 835,000 520,500 314,500
401 Al Bl 28I 828,000 502,000 326,000
01 A& HI 828,000 502,000 326,000
m&EIIEH L HSHMOOHELH X2
20,000,000& 20,000
mXYclS (60, 1008) &85 LI 2= 15,000
OR&0M WA % JIE =2l 15,000,000& 15,000
wWE=E SEHeI B 5,000,000 =3CH 15,000
WXl S(1008) €201 B 10,000
O MHE (A, GHE) WA 4,000,000 »2CH 8,000
oOWHE N, A2dH W
2,000,000& x14! 2,000
WO HEH |XE+ 30,000
OBIZ e, &3J .2, 82 S
30,000,000& 30,000
mield A=) K22 8,000
owg=, Az, MEY =
8,000,000 » 14! 8,000
mE=HMelAld X fIEA el
272,000, 000& 272,000
mEoHelAlE S2dXl €I DHBA 320,000
OxXelsS(608) skl E=I] i
150,000, 0003 *2CH 300,000
OJIE sclAl E=x01 EH & RUSM
20,000,000& =14 20,000
mE=ZMlAE 2dx=2 2 88
22,000,000& =13l 22,000
wWEAsS L Hels ELE3A 36,000
OfFd=s Nex &4 3,000,000& 6% 18,000
oOXdels Ngx &4 3,000,000& 6% 18,000
FoM2AE HMes A4S SoHEX WHSA 40,000
OXMelsS(60E, 100€) 4E ScHEX WA
20,000,000& =24 40,000
mE=XelAE sdXl €0 MEEZ UMS
At 40,000
OXelS(60E, 100€) HABEZT X
20,000,000& =24 40,000
405 TtHabF S| 7,000 18,500 211,500
01 XML = ZFH SH| 7,000 18,500 A 11,500
(WSSO Bt & X 4,000,000 +1CH 4,000
mAXE A 2RI 3,000,000% = 1CH 3,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
EEME 2229 606,717 534,555 72,162
101 @14 Hl 23,691 0 23,691
04 JIZHHZ2XNEE S 23,691 0 23,691
mWE=XelAd SAL 29 & S#ZFH 23,691
(OIS 3= 60,2403 x 1 2652 15,964
OxgI2f+E 60,2403 * 1«15 «150% 1,356
oORsS5LsE 60,2403 x1H »70L 4,217
CoAR=EBEZ 21,535,800 »10% 2,154
201 LBH2EH| 468, 186 425,935 42,251
01 At 2t 2l 98,520 70,540 27,980
mBt~=ZH] 65,520
OEZ=XMelAlE ExsX 244
1,000,000& x2& x 13| 2,000
oE=HM2ANE NSV +48
50,000,000& x13] 50,000
O2=HMelAld NIt EII4d HIIHAM =
= 1,300, 000& * 13| 1,300
O2=HMelAld NI & AEEH =
= 2,000,000& x13] 2,000
O XcolAE Agd SHEEH WEZA =
= 2,180,000 x 13| 2,180
OFMARE(EH, SAEX)
220,000 x4 Z 33| 2,640
ORSLE(H, e, mA, 22U S)
20,000& 105 200
O=t&E4a, AR A2 F 50,000& «12& 600
odlth 2= 60,000& x123] 720
OAIt0I2t0lZ AtEZ 40,0003 «3CH+122 1,440
O&=J| &eltl 55,0003 x2CH 123 1,320
O&¥stxr EHAH 40,0003 32 120
OM=8J1 20 5,000& 2004 1,000
m I = HI 4,000
ag= 400,000& x10H 4,000
m = &l 16,000
OOIFDA 2D 2 SEEE QIR =S4
8,000 *5H 1002 4,000
OZRAME Ag 24 2ANH
5,000& x10H 20 x 128 12,000
LIR= N = 13,000
OA=0tE 2xdMaE 22X MEE 13,000
OHMel=+= 130,000,000& *10% 13,000
02 =224l 369,666 355,395 14,271
W22 & HAl 324,100
o&IIe3 10,000,000& 128 120,000




A B8 a2 (3) - HRAY - BES il 2
odxEe23 17,000,000& »12& 204,000
O&J|erd 22| At & 3l Y| 100, 000& 13| 100
WA Z Y| 7,488
ozels BELAH(SER)
800& x54 *8A| 2t*90! 2,880
oHeEg H=2(S%,100&,60€)
800& *44 »8Al2tx20H+90 4,608
(W Al & ZHI R Xl HI 34,256
OF=HMelHE =2 R B+
20,000,000& 20,000
Oz MaAlE &IISHH 22U =2
1,188,000& x12& 14,256
(] X} 2F & EHH| 3,822
oAJI2®H 22/dl 600,000 *2CH 1,200
0220 RRU(ER)
1,300 %8¢ *1Al2tx180 1,872
OAgstEx 22yl 150, 000& *53| 750
202 O4dl 1,800 600 1,200
01 = LH 4 bl 1,800 600 1,200
m OIFDAZEHI D1 2 o3 & A 1,800
OODIFOAR 23 & A 60,0003 x3& 103 1,800
203 R =&l 1,000 1,000 0
03 Al =X A2 =EH| 1,000 1,000 0
mE-dE gRF2A 40,0003 x5 53] 1,000
206 M= Hl 99,040 95,020 4,020
01 =8l 99,040 95,020 4,020
WHEIIANEE A2 50,000 100K 5,000
mIIHANEE A28 50, 000& * 1004 5,000
mME-XeldE 43 80,940
S StH2E 2403 *9,000kg =128 25,920
onzxt s&EHM 3,000& *1,250kg 12 45,000
Ot AL 5403 x1,250kg 123 8,100
OAEH 8,000& x20kgx12& 1,920
mAgs 45 2 WE 6,600
O=ZEz4 Al 250,000& »12& 3,000
O=XJII+ & 223 100,000& »12& 1,200
O EaEH SA2ACULDE
200,000 1228 2,400
WFHE HMEM ¥ $I9AUE 250,000& x4 & 1,000
mAEAE 2 500
odstd =S 500,000& 500
301 PP B A 13,000 12,000 1,000
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G 2Eaxeld HE (e H)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2

11 JIEtE A= 13,000 12,000 1,000

mAIR0ISE 2l 28 FoA2S)|2 13,000

OXelE=2 130,000,000 *10% 13,000
HAHSHAY (ot=XHel) 46,510 45,990 520
JlE&ddl 46,510 45,990 520
Jl2AH| 46,510 45,990 520
201 et | 34,510 33,990 520
01 AR 22l ] 34,510 33,990 520

m 2Bt 2 H]| 4,120

OJle A3 5,000 x4 12 240

OZNEBE =2H| 70,000& x4H « 128 3,360

OEZAA &P P2 200,000 x23| 400

OGAA AP HEH 10,0002 2 X x6 3| 120

WYL (B XalE) 26,550

OY A G 60,0003 1 x119L 7,140

O=& G 19,410

oEg 50,000 « 18 »2492! 12,450

02y s 252 A

60,000 «1H~116 6,960

D=1l 8,000 x4Hx10L 128 3,840
202 04| 12,000 12,000 0
01 2L HI 12,000 12,000 0

m 2t =& 200,0008 x4 x12& 9,600

m2Ad=F 50,0003 »4H x12E 2,400




